6H (K) 18 (£)
BRI % BR% —ANEY | [#xs BR% —A#Hy
ERN=E ERN=E
e =S YAV 5[ [F [HBEXER) 55
QI ETIN, 0 N ST 5
~ v
% _ 5 CR)EBA M- L Ak 12
> 43| 206 1 CRBR b EEL Ak 8
2 |(BxESE 1
£ |BRAESVTF 20 | - A 8
2| AaVAITFAS 20| | |EE 12
P &R 15| A |TYLE 5
,’j‘ Cohing 55 |V [ oEks 5
5 |EH 0| [ |EEAE— 0.6
o |bxbhkE 8 # YS5 i 1
bl 1IZAIZK 1 2 FRETFev S 13
I /34 0.8 Y RE—Y—R 0.9
Ly 1 [vw  |zxravus s 0.5
o rRETFyS 6 |+ |BiE 0.45
Y RO#E (R XA 12| ¥ |SL&S 0.05
F  [9RE—Y—Z 1|z
L |BERESE 1| ¥ (43 206
K |3xravys s-mims 0.5 -
i 025| ] (LM FESHHE 8
2 |[Fusss— 00s| |-, [XiB 25
S = 3B |z [EwdY 15
vy I AS 5
=p5Y 10| |7 [E&Eh—ra—y 5
3 (B IFLKRIR 5/ |. WYBaIE 1.5
| Az 5| [ |&EE 2.2
fb (B h—la— 5| |5 |Ro® 2
v [uags 05| |5 [LeEs 1.2
. |BEE 22| |5 [ 0.5
N LES 2| |v  |YIFHE 0.5
o | LB 1| |
D |YSHH 05| |~ [R—a3y 54X 7
# P g oy—Lsa— 40
T [@a—sar sent 70 2 EX 30
Y R LG D o 2= 10
A |UEDYASSY L 15 AN 0.5
= Y5453 0.5
; (LR WS R—=F 4
BiE 0.5
L “L&> 0.03
;\ FEravyA GBS 0.3
th & 110
»
& (@) 3357yt 21




D 5A

108 (A) 118 ) 128 (5K) 13H (K) 148 (%)

ks % BR% —A&EY | |#Isa BR% —AN&EY | |#is Baf —ANEY | |#sa BR% —ANEY | [#xs BR% —A#Hy
ERYE ERSE E%RYE E%RYE E%RYE
% BEX(FFE) 60 % BEXER) 62| |=  |ausy 50 a*jg BEX(ER) 60| |7 |HEERE®) 50
- |BBEX(EH 70/ [« |EERXRER 68] |F [av~ssy 50| |= |HBBEX(EE) 70 § GILF, 10
S of |# [z Bn o |5 |[mrnm al |F e w5 o [= [BEE_ATY 20
XKiuE 7 RiE B N | |PECEER) 5 Kbz EH 7| |E |enrsockom s 10
% % ',;-; EH BEAE 4 |4 » A 5
g, |4E 206 (3, [&EL 206| (¥ [FEZE MK 04| |z, |&ZH 206| 3 |CRIDERE 5
N |BiE 0.01 - fiE 5
B |y auL o 50| |BX |BRE RSAR 40| [~ | HEFTXY 1| | |BERIVTF 25| [ |oS54m 1
D |EE 2| (B |Ex 1.5 £ |&E 1 |4 [SEl 1
< |x==z= R ET: 0| |F (42 206| |2 =@ 80| |z [|mOE 3
f% EOE; i i_i_,’ Fo~Y 30| [ B |zz B | |#E 4
F ais 02 |5 |AZ 10| [0 R AEAS f | [AB 10 [ [BHECEEHE) 0.8
TASA 6 [py |BAE 5 £ 35 |., Ll R5AR 5 (v [BiE 04

F e ) 4| o |HSFH 1 [# [whrsoskor w—n 10| |5 [haFE 5[ |7
v |BYBTE 3 1 |FAE 45| o |AZB 10| | |&= 1 fu 43 206

f= |fettaid 5 O 1) |A  |[FyFrH4 12| | lzAl=< 08| | g
L i EE 15 || Lok 254% o |1 |y55m 1115 [Fery 35
- oL I e =) 2| |7 [azsr Hob 3| [P [rerrFryT 5| |2 [RFvTRAES 5
Z [ 20| 2 g £ os| ¥ [Ro® 35| |2 [Az 7
o |AZ 7] |5+ =28 30| | [|HZZH 0.5] |4y (LR ASR—F 3| |& (fF)h—J)La—> 5
H EOE] 2.7 HBT 7 [p (LR ASR—F 4 FAE 3 (B HABELY LY 5 TiEE 10

T |aE 05 SEZAZES 15| 4 [EOE 2| |»n  [EE il &
T (R 0.4 AS 10| | [EE 1 (& |BHEEEE 05[] [z [korzns gm mme 7
BiE 0.03 ¥ 5| |7 |&& 02| (Y |zxravyx somis 05| ! (LR) 5B 25
EOE) 2| 1% [cLss 003| |7 [&E o |7 ==z 30
HiE 30 BiE 0.65 FE AL YA G BiE 0.5 4|5 HiRE 01| |2 |FrZo¥4 7
bi:be vl 5 ELAEIYVET s 4 = 1200 | TARA 1 |2 [[£5SH Hvk 5
E3 25 LE# 1 O 3 oif & |unEr Fgy i
) FLbis Huk 0.6 K 120 FwRY 35 & 35| [y |[HSFH 0.5
FhF 5 =Y 15 v LR ASR—F 4
hHZ 6 (LM E#HLA 20 FUFIHA 30| [~ |&iE 0.4
HHT 5 &R 15 Fo_yY 20| |7 [Ro®E 05
ELETL 4 GBLEVEA 1 AS 5| lg0  [FEravvs si-mime 0.3
7K 105 Y354 M 1 Bt 3l [~ [SL&LS 0.03
L% @=L )} 1.2 = OE; 3 |« _FEH 0.1
Bis 0.3 RO (%) 1l |- & 120

L& 0.03 CFEih 05| |=
_%b‘ B BT EFvY 15

nzY 5| |5
F7—EUR (FDE) 4| v | EoFVEFYS 5

B Eag) 1| |7

EOE; 0.3 ;\

#HY A 1 o

7K 1 |#




D 5A

178 (A) 18H () 198 (JK) 20H (K) 218 (&)
ks % BR% —A&EY | |#Isa BR% —AN&EY | |#is Baf — A&y | [#uzs BR% —AHY | |#usa BR% —AN&EY
EERDE EFERDE FEFRDE EFRDE EERDE
% BEX(EF) 60| |X |HEXER) ] = = DY 50| [/ |[#EEXK(EE) 60| (& |[UE) HhEZIE ~3 150
< |EEx(ER 70| |~ [EEXER il A B 50| [V [#E%(F50) 70| € [ HEZEFE  [~/n6 200
S 6 '_t) B EEZAES o] % 2 |[xux sm o |7 |z th_250
XpiEx Fit 1S [EE 15/ |, (44 206| | % knE it 1|4 [BEEA RSAR 25
4 i |BiE 08 z > |EE 1
g, |4 206| 4, [EZLEf# 1 |4  |BHEAE RS5/4R 20| |~ [#E 206 =0 0.8
2 ([BE_RSALR 10| |= L A 30
B |on%s BEL 3o 50| |4 |4&EL 206 Y545 05 |1 |&£H RS54 20| [2L [£45L 15
O &z 04 |2 F |R—av 254X 7| & [E& 45 AS 10
< |[EE 1] | [mm memsl sk 12| |[X |[Ex#E | |V [Lening 45| [T [rockack—u) 10
oj,f TARA 8 E B/A L4 FHL Ak 8 E% EE | [T (AB 10 ; fhE 5
z |Erfi 5 | LBEE LI R o ) 25| g |TUZF Aok 6 (v HEAI 0.7
v |BYBSE 1 | [3800 20| [ |Ledd 15] |z, |R)TUVE=R 6| [+, [ 1
[ TYSE 05| [ |®w&EBIE Y4210 18] |7 [AZ 5 I2A1=< 03| |l [LBHBR—T 4
A |HRHT 36| (B |EHE 40 +ay— 2| (A [USEH 1[I |[FEHsZ 6.5
»n | FEHE 18| |& |[AB gl [E  |/3&Y 07| |~ |IhEH 5/ |5 | Bl 15
A W= ) 18] [ [Gaenilfa 1| | [peam 05| [0 |&tE5— 3| & [ (e 15
= B 15 i LLM=lF RSAR 4 ; (LM ASR—F 4| & |[y55m 2 ;D FELaLVA IS 0.5
e 10| |n  [ROE 35| |3 [BAESE 1] |p |utrzrea—y e 15 (T [&f 0.3
#n % |BHEEES 25| |5 |BiE 04 |4 [ERhKE 10 cLeS 0.03
z |G Favay— 0| | |BE 03| [ [SL&S 003 |5 [(LMWBR—TF 3 |z |ERE 0.1
FeRY 30| [ |ELAIVET RS 2 FEoavyA 9-miEE 03| |4 |FZEAESHE 2| |= [TASA 0.8
= |AZ 51 (¥ |33 50| [ |B—Ux 0.1 DRA—Y—R 2l |¢ B 125
’r’I ({B) /oA AT OEEL I - ik 8 /{ E 5% 75 ﬁiﬂﬁﬂ 1 ?
it Yo i 25| |# LS 007 |& [z 206
T 2| [P [FrRy 35 ?: (LR SwPRE—oX 15 FaaLUA H-BEE 05
W EHDIRAN =) 20 ;ﬂ AS 5 |7 [t Iavay— 20 % @A=L )} 0.5 EDELL 2emE 50
AS 7 o BTy LY S BiE 8 I Zp3Y 15 hisL 0.15 Tif-1ail 4
HiaE 3 mo |GER—a—y 10 A—yT 0.1 [FEHDETE 3
(&) FLbhd Ak 0.5 D EENCERL ST 5L 8 EYRF—X 3 WRE (=R 1
O 1 H = 80 Bt 0.6
Bl 1 ~ | HEA#HLA 50 = OE; 0.5
BiE 0.5 Fp5Y 15 7K 1
ELEIVET fFiRE 4 AS 5
o 120 (@ HR—)a—r 7 el el 30
E) M ATES Ak 5
(87) % & B 0.5
(B BABELYS LY 5L BikE 8




D 5AH

24
ﬁki(ﬁ) - 25H 268 ()
Ak 3L BR% — A%y | [#zs R — a2y | (s 5 278 (X) 28H (%)
I T R EHAE ve]  BRE | —Amy|[wzs| BRE | —Am0 | |mes]
i *%E*<§E'E) 60 = %E*(g*ﬁ) AL IEI]*%\E #RILA ﬁlﬁl% _)\ﬁu
S ABEX(ER) ol | [mak a 68 3 |ausSy (AR B T T E 58
E (e == o [HEEXER) v - 50 BEX(EH) ERD &
4 |RHE ZH 6 1] B A = DAVAVE S ) sl 1S [Egx =2 60| | [3uRsty 30
KEE B _ ’\o i+ BEX (R 70 Eid Y
B 1| & [£2 AN et ~IEN 30
* o ) =3 206 REE BT v —
s 206 BhA AR == s ) Iix  [F2 206
c _ % Al ) 14 IEL ~ih2 35 |z, [4E 7
Pt ;;ﬁmff’—“ 10| [ [GEBE Auk o [ sl ~ /16 50 28 |~ RLZTan=D) 35
fJ§ EE?%W:/?‘ 10 E *74/5 15 é ':)—c‘{;L, q: 70 I\ Hilﬁ Zﬁ{z @—Ciﬁ 13
L /?/E _ 1 ;% A N - = B 2| [E 25 f‘: FFRAZIVTF
Cohis = M EOVAIFA 112 [com N nlEd 15
4 EE‘\; (A% 80 ; 54 3 1 L _C:/Ulﬁ\f,/ 5| |3 ® 0% + BFERIF 15
B ey w| |5 |[Eo=H o [AERd 4 (LD 5T 50 Uz [RBLA=7yT 3
{: 2EAITL 15 :Vﬂ‘ YA 5 L E’}\*E(J:E*E) 3 T () LA ( 20 5 EF: 35
g D 10 B (PR 2l |& |[UBLESRH i T —— 20 1y |AZ 10
7 [Eevals g [RECERE) 2| v |[ROE A e 05| |7 [Tuxx
it ATFA 8 I s - EOEH 29| |5 5 5 I X hyk
x|y o [AE 15| [V [k 2 |7 (A 40 —< L
B 2| |z |TASA o5l | 15| |[# [z )14 E—vy s
E %d\*ﬁ(g' ‘ 35| | & ELEIVE fSth= 1 (= o= (LR FHOIRAN =) 1 T Lé"% 0.3
B HHE) 25| (% K (M) Z5E 20| |F YR 5 HS5H
& Y 8 H ﬁiﬁ FooHA 15 ~ 2
B ;:/ 1 -E) I+ LR 07 |& £ ol |V (L) FREEa—L 1kg 13
2 5 |5 |AZ 10 ———— A Lot =542 5| ! e P 7
# INAEE 7z |R=3x RS54 50 [ S 43 HRRESHE
Fy EAIE 0 Mm% 20| | % I Y55 2 A . 4
" ~ 40| (2 [BBL wl 12 [Com 20| (g [ROE] 7 =% 2.5
=31 15| |# |ae O |z |[Lehing 30| |m s 3 08 |7 |2RZ=Y—=R 1.5
AS AT AOBEL IR 8| | AS FEvav)A FL-IiRE 05| |®» FaoavyA 3 -
N ez 2 | & . 1| |# |BiE o3l s vavYA G- BE 03
f VEDID Nk 03| ¢ [E UVLEDY P T 5 [ |=LsS 3|0 [BA 0.2
(EREFLYLLY 3 BiE 10 /1) ) 004} |7 cL&>
) 8| |= < © 05 < 4 0.05
T [9oxm Thih 1 |7
' OE D |EHNATI—Z 125 0.5 B 2 -
3 BEYHA 4 |V o [Lhstsz—F 4 8l |y [ ZRATAR 30
& EE'F i [ o |EEvavus wemme 03 £00L ¢ [EB3Y 20
B e v BE 05 Z55Y 9|7 pEEAa 10
¥E(ZEH) 1.2| |D A cL&d 0.03 A 15 A AS 5
BYATE 04| |# 2 RO 02 5 1
=10 I [ o ) h—la—> 5 |+ Rt 8
5 [ WYBTE it
? (B BRIy Y 5B 8 1 X0AIN— 20
N
p
/L’ B F—X i 15 )ll/
_IL V)
z i
I\ A
h »
1) &
# -




31H(H)
ks % BR% —AZHY
ERD=E
£ |#BAaxXEHR 60
— BEX(FRFE) 70
';f KHE ER 6
*kHE Fit 7
in —
g, |HE 206
& DagmE |4 50
g A ETEE 70
z =Y 30
FrRY 30
= AS 5
w  |BYBTE 1
5] (D RBEL Y LY 5B 8
Y
D = 15
b |wmigd 5
% &R 30
o B 15
AS 5
& |[hhEF 5
X |RAE 6
R’ |[HHE 5
gi ELEFL 4
% K 100
o+ (L) HEYEE 10
)
=
D]
o
18
&
N
th
o
FA




